FIET 2022/ — 2 L EMPE R RS TR LER

1. EHEE -
THBEE TR ERRRZ

A. AR(SO4)3=2A13+ +3S042— B. Na2SO4=2Na+ +S04—2

C. Ca(NO3)2=Ca2+ +2(NO3)2— D. Ba(OH)2=Ba2+ +OH2—

2. LR

THIRBH, BERWARM, SRENER R 2
A ERKEKRR: CaO+ H20 =Ca(OH)2

B. S ENRIL AR : C12+2NaBr= 2NaCHBr2

C. AR RF: 2Fet3CREE 2FeC13

Fat

D. EALNAB IR IRIB S IN#: 2NaCHH2SO4(3K)™  Na2804+2HCI}

3. B
B2ERORI—MFHESTF, Hi%AH3, EHEFEEST, SREHHAH, BEAHE
£

A DTFHEB ETHC AR D MENE

4. BB -
XF1 molVL K2SO4F I FHI UL IEMIIZ ()

A. BWHEH 1mol K2S04 Bs. 1molK2SO4¥% T 1LK

C. B Hc(K+ )=2mol/L B 1L B H F2molKet,2molS O42-

5. M PR -
T AR T BN IR T e SE LA £
A. C—C12 B;HCO3- —»C032- C_ Mn04- »Mn2+ D. Zn—Zn2+

6. EHBERR
FENaCl. “MgC2. MgSO4HIVE AWM, c(Na+)=0.10molL, c(Mg2+)=0.25molL, c(Cl-
y=0,20mol/L, Mc(SO42°4

A. 0.70mol/L B. 0.15mol/L C. 0.20mol/L D. 0.25mol/L
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